Solving Equations 7

(KEY)

Geometry

Evaluate the following expressions.

1) 48+ (5x - 6) -y - 12;
48 = (5(2) - 6)2  (14) - 12
48 = (10 - 6)* » (14) - 12
48+ (4) e 14- 12
48+ 16+ 14-12

3¢14-12
42«12

=30

x=2,y=14

Solve, check, and graph the following equations.

» Lo11=-3

2) pP+(+qP+r-10;, p=12,9=4,r=3
(12)* = (2 + (4))*+ (3)*- 10
144 = (6Y + 27 - 19
144 =36 +27 - 19

7) 33=09x - 6x
33=3x
3 3

11=x

v 33=9(11)-6(11)
33=99 - 66
33=33v

4+27-10
=21
4) -6¢>+13 =163 5) 70=7x +3x 6) -63=2x +5x
-13 -13 70 =10x -63 =7x
6% = 150 10 10 7 7
-6 -6 7T=X -9 =x
g =-25 v 70 = 7(7) + 3(7) v =63 =2(-9) + 5(-9)
70 =49 + 21 63 =-18 + (-45)
gt =+-25 70 =70/ -63 =-63/
No Real Solution
0 7 -9 0
8) 50=x+12x - 15
50=13x-15
+ 15 +15
65=13x
13 13
5=x
v 50 =(5)+12(5)- 15
50=5+60-15
50=50v




9) -32=5x+4x + 13

10) 27=-21+16x - 8x

32=90x+13 27 =-21+8x
-13 -13 +21 +21
-45 =9x 48 = 8x

9 9 8 8
5=x 6=x
CHECK AND GRAPH CHECK AND GRAPH
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